Elzaki decomposition method for solving duffing equation

Murat Düz and Ahmad Issa

Department of Mathematics Faculty of Science, Karabuk University Karabuk, Turkey Email: ahmad93.issa18@gmail.com

(Received: October 31, 2023 Accepted: December 30, 2023)

Abstract

In this study, we have employed Elzaki Adomian Decomposition Method (EADM) to solve Duffing Equation. This method is depends on Elzaki Transform and Adomian decomposition method. Besides, three examples are represented to illustrate the validity and accuracy of the proposed method, as shown in the figures.

1 Introduction

Several natural systems are modeled by nonlinear differential equations which cannot be easily solved. Therefore, the investigation of solving such equations by other methods is an important topic of the research. Lots of different methods have been developed to get exact and approximate solutions to these equations in recent years. Some of these methods are the Adomian decomposition method, Differential transformation method, Homotopy perturbation method, Tanh method, Elzaki Transform, and Variational iteration method [2,4–13]. Also, these equations have been solved by Laplace Decomposition Method, and Fourier decomposition method [1,3,14].

Keywords and phrases: Elzaki Transform, Duffing equation, Elzaki Decomposition Method. **2020 AMS Subject Classification:** 34A34

In this study, approximate solution of Duffing equation has been found by using Elzaki decomposition method. The Duffing equation is an ordinary differential equation of second order, that is

$$y'' + \alpha y' + \beta y + \gamma y^3 = h(x) \tag{1.1}$$

$$y(0) = A, y'(0) = B,$$
(1.2)

where $\alpha, \beta, \gamma, A, B$ are real constants.

In this article, three examples that were previously solved by other methods were solved using EADM. The results have been seen consistent with the literature.

2 Preliminaries

Definition 2.1. The Elzaki transform of h(x) is given by

$$E(h(x)) = u \int_{0}^{\infty} e^{-\frac{x}{u}} h(x) dx, x > 0.$$

Theorem 2.1. [4,13] *The Elzaki Transformations of some functions :*

$$\begin{array}{lll} h(x) & E(h(x)) \\ I & u^2 \\ x^n & n! u^{n+2} \\ e^{ax} & \frac{u^2}{1-au} \\ cosax & \frac{u^2}{1+a^2u^2} \\ sin \ ax & \frac{au^3}{1+a^2u^2}. \end{array}$$

Theorem 2.2. [4, 13]*If* E(h(x)) = A(u)*, then*

$$i)E[h'(x)] = \frac{A(u)}{u} - uh(0)$$

$$ii)E[h''(x)] = \frac{A(u)}{u^2} - h(0) - uh'(0).$$

3 EADM for the Solution of Duffing Equation

Consider the Duffing equation (1.1) with ICs (1.2) and by applying Elzaki transform to Eq (1.1), we get

$$E(y'') + \alpha E(y') + \beta E(y) + \gamma E(y^3) = E(h(x))$$

$$\frac{T}{u^2} - y(0) - uy'(0) + \alpha \left(\frac{T}{u} - uy(0)\right) + \beta T + \gamma E(y^3) = E(h(x))$$

$$\frac{T}{u^2} = E(f(x)) + y(0) + uy'(0) - \alpha \left(\frac{T}{u} - uy(0)\right) - \beta T - \gamma E(y^3)$$

$$T = u^2 y(0) + u^3 y'(0) - (\alpha u + \beta u^2) T + \alpha u^3 y(0) - \gamma u^2 E(y^3) + u^2 E(h(x)) \quad (3.1)$$

apply the inverse Elzaki transform to Eq (3.1), we obtain :

$$E^{-1}(T) = E^{-1} \left[u^2 y(0) + u^3 y'(0) - (\alpha u + \beta u^2) T + \alpha u^3 y(0) - \gamma u^2 E(y^3) + u^2 E(h(x)) \right]$$

So we get the following iteration relation.

$$y_{n+1} = E^{-1} \left[-(\alpha u + \beta u^2) E(y_n) \right] - \gamma E^{-1} \left[u^2 E(A_n) \right],$$

where A_n 's Adomian polynomials

$$A_0 = y_0^3, A_1 = 3y_1 \cdot (y_0)^2, A_2 = 3y_2 \cdot (y_0)^2 + 3y_0 (y_1)^2$$

$$A_3 = 3y_3 (y_0)^2 + 6y_0 y_1 \cdot y_2 + (y_1)^3$$

and

$$y_0 = E^{-1} \left[u^2 y(0) + u^3 y'(0) + \alpha u^3 y(0) + u^2 E \left(h(x) \right) \right]$$

we can use the taylor expansion of the function h at x = 0, is given by

$$h(x) \approx \sum_{i=0}^{K} a_i x^i$$

than we get approximation solution as

$$y \approx \sum_{i=0}^{K} y_i.$$

4 Numerical Examples

Example 4.1. [1, 8, 10, 11]*Consider the following Duffing equation :*

$$\alpha = 0, \beta = 3, \gamma = -2$$

 $y'' + 3y - 2y^3 = \cos x. \sin 2x$ (4.1)

with ICs

$$y(0) = 0, y'(0) = 1$$

The exact solution is

$$y(x) = \sin x$$
$$h(x) = \cos x \cdot \sin 2x \approx 2x - \frac{7x^3}{3} + \frac{61x^5}{60} - \frac{547x^7}{2520} + \frac{703x^9}{25920}.$$

$$y_0 = E^{-1} \left[u^3 + u^2 \left(2u^3 - 14u^5 + 122u^7 - 1094u^9 \right) \right]$$

$$\approx x + \frac{x^3}{3} - \frac{7}{60}x^5 + \frac{61x^7}{2520} - \frac{547}{181440}x^9$$

$$y_{1} = E^{-1} \left[-3u^{2}E(y_{0}) \right] + 2E^{-1} \left[u^{2}E(A_{0}) \right]$$

= $E^{-1} \left[-3u^{2} \left(u^{3} + u^{2} \left(2u^{3} - 14u^{5} + 122u^{7} \right) \right) + 2E^{-1} \left(u^{2}E(-\frac{1}{60}x^{7} + x^{5} + x^{3}) \right) \right]$
= $E^{-1} \left[-3u^{2} \left(u^{3} + u^{2} \left(2u^{3} - 14u^{5} + 122u^{7} \right) \right) + 2E^{-1} \left(u^{2} \left(-84u^{9} + 120u^{7} + 6u^{5} \right) \right) \right]$
= $E^{-1} \left[-3u^{5} + 6u^{7} + 282u^{9} - 534u^{11} \right]$
 $\approx -\frac{x^{3}}{2} + \frac{x^{5}}{20} + \frac{47}{840}x^{7} - \frac{89}{60480}x^{9}$

$$A_{1} = 3y_{1} \cdot (y_{0})^{2}$$

$$= 3\left(-\frac{x^{3}}{2} + \frac{x^{5}}{20} + \frac{47}{840}x^{7} - \frac{89x^{9}}{60480}\right)\left(x + \frac{x^{3}}{3} - \frac{7}{60}x^{5} + \frac{61x^{7}}{2520} - \frac{547x^{9}}{181440}\right)^{2}$$

$$\approx -\frac{3x^{5}}{2} - \frac{17x^{7}}{20}$$

$$y_{2} = E^{-1} \left[-3u^{2}E(y_{1}) \right] + 2E^{-1} \left[u^{2}E(A_{1}) \right]$$

= $E^{-1} \left[-3u^{2} \left(-3u^{5} + 6u^{7} + 282u^{9} - 534u^{11} \right) \right] + 2E^{-1} \left[-180u^{9} - 4284u^{11} \right]$
= $E^{-1} \left[9u^{7} - 378u^{9} - 9414u^{11} \right]$
= $\frac{3x^{5}}{40} - \frac{3x^{7}}{40} - \frac{523}{20160}x^{9}$

$$A_2 = 3y_2 \cdot (y_0)^2 + 3y_0 (y_1)^2 \approx \frac{39x^7}{40}$$

$$y_{3} = E^{-1} \left[-3u^{2}E(y_{2}) \right] + 2E^{-1} \left[u^{2}E(A_{2}) \right]$$

= $E^{-1} \left[-27u^{9} + 10962u^{11} \right]$
= $-\frac{3x^{7}}{560} + \frac{29}{960}x^{9}$

$$A_3 = 3y_3 \cdot (y_0)^2 + 6y_0 y_1 y_2 + (y_1)^3 \approx \frac{-207x^9}{560}$$

$$y_4 = E^{-1} \left[-3u^2 E(y_3) \right] + 2E^{-1} \left[u^2 E(A_3) \right]$$
$$= E^{-1} \left[81u^{11} \right] = 81 \frac{x^9}{9!} = \frac{x^9}{4480}.$$

Thus, the approximate solution with the first five terms is obtained as follows.

$$y \approx y_0 + y_1 + y_2 + y_3 + y_4$$

= $x + \frac{x^3}{3} - \frac{7}{60}x^5 + \frac{61x^7}{2520} - \frac{547x^9}{181440}$
 $-\frac{x^3}{2} + \frac{x^5}{20} + \frac{47}{840}x^7 - \frac{89x^9}{60480}$
 $+\frac{3x^5}{40} - \frac{3x^7}{40} - \frac{523x^9}{20160}$
 $-\frac{3x^7}{560} + \frac{29x^9}{960}$
 $+\frac{x^9}{4480}$
= $x - \frac{x^3}{3!} + \frac{x^5}{5!} - \frac{x^7}{7!} + \frac{x^9}{9!} = \phi_5(x).$

Above equation is first five terms of Maclaurin expansion of sinx which is a solution to Eq (4.1). by taking elzaki transform of the first five terms, we obtain

$$E[\phi_5(x)] = u^3 - u^5 + u^7 - u^9 + u^{11}.$$

All of the [L/M] pade approximation of $E[\phi_5(x)]$, get $[L/M] = \frac{u^3}{1+u^2}$. By applying inverse Elzaki transform to [L/M], we obtain :

$$E^{-1}[L/M] = E^{-1}\left[\frac{u^3}{1+u^2}\right] = \sin x$$

Thus a complete solution is obtained.

Example 4.2. [5, 11] Consider the Duffing's equation : $\alpha = \beta = \gamma = 1$.

$$y'' + y' + y + y^{3} = \cos^{3} x - \sin x$$

$$y(0) = 1, y'(0) = 0.$$
(4.2)

The exact solution is $y(x) = \cos x$.

$$h(x) = \cos^3 x - \sin x \approx 1 - x - \frac{3x^2}{2} + \frac{x^3}{6} + \frac{7x^4}{8}.$$



Figure 1: Solution of Equation (4.1) by EADM.

$$E[f(x)] \approx E\left[1 - x - \frac{3x^2}{2} + \frac{x^3}{6} + \frac{7x^4}{8}\right]$$
$$\approx u^2 - u^3 - 3u^4 + u^5 + 21u^6$$

$$y_{0} = E^{-1} \left[u^{2}y(0) + u^{3}y'(0) + \alpha u^{3}y(0) + u^{2}E(f(x)) \right]$$

$$= E^{-1} \left[u^{2} + u^{3} + u^{4} - u^{5} - 3u^{6} \right]$$

$$= 1 + x + \frac{x^{2}}{2} - \frac{x^{3}}{6} - \frac{x^{4}}{8}$$

$$A_{0} = (y_{0})^{3} \approx \frac{7}{8}x^{4} + \frac{7}{2}x^{3} + \frac{9}{2}x^{2} + 3x + 1$$

$$E(A_{0}) = u^{2} + 3u^{3} + 9u^{4} + 21u^{5} + 21u^{6}$$

$$y_{1} = E^{-1} \left[-(u+u^{2}) E(y_{0}) - u^{2} E(A_{0}) \right]$$

$$\approx E^{-1} \left[-u^{3} - 3u^{4} - 5u^{5} - 9u^{6} \right]$$

$$= -x - \frac{3x^{2}}{2} - \frac{5}{6}x^{3} - \frac{9}{24}x^{4}$$

$$y_{2} = E^{-1} \left[-(u+u^{2}) E(y_{1}) - u^{2} E(A_{1}) \right]$$

$$\approx E^{-1} \left[u^{4} + 7u^{5} + 29u^{6} \right]$$

$$= \frac{x^{2}}{2} + \frac{7x^{3}}{6} + \frac{29x^{4}}{24}$$

$$y_{3} = E^{-1} \left[-(u+u^{2}) E(y_{2}) - u^{2} E(A_{2}) \right]$$

$$= E^{-1} \left[-u^{5} - 17u^{6} - 147u^{7} - 1009u^{8} \right]$$

$$= -\frac{x^{3}}{6} - \frac{17x^{4}}{24}$$

$$y_{4} = E^{-1} \left[-(u+u^{2}) E(y_{3}) - u^{2} E(A_{3}) \right]$$

$$\approx E^{-1} \left[u^{6} + 45u^{7} + 695u^{8} \right]$$

$$= \frac{x^{4}}{24}.$$

Thus, the approximate solution with the first five terms is obtained as follows.

$$y \approx y_0 + y_1 + y_2 + y_3 + y_4$$

= $1 + x + \frac{x^2}{2} - \frac{x^3}{6} - \frac{x^4}{8}$
 $-x - \frac{3x^2}{2} - \frac{5}{6}x^3 - \frac{9}{24}x^4$
 $+ \frac{x^2}{2} + \frac{7x^3}{6} + \frac{29x^4}{24}$
 $- \frac{x^3}{6} - \frac{17x^4}{24}$
 $+ \frac{x^4}{24}$
= $1 - \frac{x^2}{2!} + \frac{x^4}{4!} = \phi_5(x).$

Above equation is first five terms of Maclaurin expansion of $\cos x$ which is a solu-

tion to Eq (4.2). by taking elzaki transform of the first five terms, we obtain

$$E[\phi_5(x)] = u^2 - u^4 + u^6.$$

All of the [L/M] pade approximation of $E[\phi_5(x)]$, get $[L/M] = \frac{u^2}{1+u^2}$. By applying the inverse Elzaki transform to [L/M], we obtain $E^{-1}[L/M] = E^{-1}\left[\frac{u^2}{1+u^2}\right] = \cos x$ Thus a complete solution is obtained.



Figure 2: Solution of Equation (4.2) by EADM.

Example 4.3. [5,11] Consider the Duffing's equation : $\alpha = 2, \beta = 1, \gamma = 8$.

$$y'' + 2y' + y + 8y^{3} = e^{-3x}$$

$$y(0) = \frac{1}{2}, y'(0) = -\frac{1}{2}$$
(4.3)

The exact solution is $y(x) = \frac{e^{-x}}{2}$.

$$h(x) = e^{-3x} = 1 - 3x + \frac{9x^2}{2} - \frac{27x^3}{6}.$$

$$y_0 = E^{-1} \left[u^2 y(0) + u^3 y'(0) + u^3 + u^2 E \left(1 - 3x + \frac{9x^2}{2} - \frac{27x^3}{6} \right) \right]$$

= $E^{-1} \left[\frac{u^2}{2} - \frac{u^3}{2} + u^3 + u^2 \left(u^2 - 3u^3 + 9u^4 - 27u^5 \right) \right]$
= $E^{-1} \left[\frac{u^2}{2} + \frac{u^3}{2} + u^4 - 3u^5 \right] = \frac{1}{2} + \frac{x}{2} + \frac{x^2}{2} - \frac{x^3}{2}$

$$y_{1} = E^{-1} \left[-\left(2u + u^{2}\right) E\left(y_{0}\right) - 8u^{2} E(A_{0}) \right]$$

= $E^{-1} \left[-\left(2u + u^{2}\right) \left(\frac{u^{2}}{2} + \frac{u^{3}}{2} + u^{4} - 3u^{5}\right) - 8u^{2} E\left(\frac{1}{8} + \frac{3}{8}x + \frac{3x^{2}}{4} + \frac{x^{3}}{2}\right) \right]$
= $E^{-1} \left[-\left(2u + u^{2}\right) \left(\frac{u^{2}}{2} + \frac{u^{3}}{2} - u^{4} - 3u^{5}\right) - 8u^{2} \left(-6u^{5} + \frac{3u^{3}}{8} + \frac{u^{2}}{8}\right) \right]$
= $E^{-1} \left[-u^{3} - \frac{5u^{4}}{2} - \frac{11u^{5}}{2} \right] = -x - \frac{5x^{2}}{4} - \frac{11x^{3}}{12}$

$$y_{2} = E^{-1} \left[-(2u+u^{2}) E(y_{1}) - 8u^{2} E(A_{1}) \right]$$

= $E^{-1} \left[-(2u+u^{2}) \left(-u^{3} - \frac{5u^{4}}{2} \right) - 8u^{2} E \left(-\frac{77}{16}x^{3} - \frac{39}{16}x^{2} - \frac{3}{4}x \right) \right]$
= $E^{-1} \left[-(2u+u^{2}) \left(-u^{3} - \frac{5u^{4}}{2} - \frac{3u^{5}}{2} \right) - 8u^{2} \left(-\frac{231u^{5}}{8} - \frac{39u^{4}}{8} - \frac{3u^{3}}{4} \right) \right]$
= $E^{-1} \left[2u^{4} + 12u^{5} \right] = x^{2} + 2x^{3}$

$$y_3 = E^{-1} \left[-\left(2u + u^2\right) \left(2u^4 + 12u^5\right) - 8u^2 E(A_2) \right]$$
$$= E^{-1} \left[-4u^5 \right] = -\frac{2x^3}{3}$$

Thus, the approximate solution with the first four terms is obtained as follows.

$$y \approx y_0 + y_1 + y_2 + y_3$$

$$\approx \frac{1}{2} + \frac{x}{2} + \frac{x^2}{2} - \frac{x^3}{2} - x - \frac{5x^2}{4} - \frac{11x^3}{12} + x^2 + 2x^3 - \frac{2x^3}{3}$$

$$\approx \frac{1}{2} - \frac{x}{2} + \frac{x^2}{4} - \frac{x^3}{12} = \phi_4(x).$$

Above equation is first five terms of Maclaurin expansion of $\frac{e^{-x}}{2}$ which is a solution to Eq (4.3), by taking elzaki transform of the first four terms, we obtain :

$$E[\phi_4(x)] = \frac{u^2}{2} - \frac{u^3}{2} + \frac{u^4}{2} - \frac{u^5}{2}.$$

All of the [L/M] pade approximation of $E[\phi_4(x)]$, get $[L/M] = \frac{u^2}{2(1+u)}$. By applying the inverse Elzaki transform to [L/M], we obtain :

$$E^{-1}[L/M] = E^{-1}\left\lfloor \frac{u^2}{2(1+u)} \right\rfloor = \frac{e^{-x}}{2}$$

Thus a complete solution is obtained.



Figure 3: Solution of Equation (4.3) by EADM.

5 Conclusion

In this paper, a new technique (Elzaki Adomian Decomposition Method) was created to solve Duffing Equation. In addition, we observed that the results obtained by EADM were very consistent compared with other methods.

References

- [1] E. Yusufoğlu, *Numerical solution of Duffing equation by the Laplace decomposition algorithm*, Appl. Math. Comput. 177 (2006), 572-580.
- [2] A. Kumar and R. D. Pankaj, Laplace Decomposition Method to Study Solitary Wave Solutions of Coupled Nonlinear Partial Differential Equation, SRN Computational Mathematics (2012).
- [3] S. S. Nourazar, H. Parsa and A. Sanjari, A Comparison Between Fourier Transform Adomian Decomposition Method and Homotopy Perturbation Method for Linear and Non-Linear Newell-Whitehead- Segel Equations, AUT Journal of Modeling and Simulation. 49 (2) (2017), 227-238.
- [4] T. M. Elzaki, Solution of Nonlinear Differential Equations Using Mixture of Elzaki Transform and Differential Transform Method, International Mathematical Forum. 7 (2012), 631-638.
- [5] K. Tabatabaei and E. Gunerhan, *Numerical solution of Duffing equation by* the differential transform method, Appl. Math. Inf. Sci. Lett. 2(1) (2014), 1-6.
- [6] M. Turkyilmazoglu; An effective approach for approximate analytical solutions of the damped Duffing equation, Physica Scripta. 86 (1) (2012).
- [7] A. H. Salas, *Exact Solution to Duffing Equation and the Pendulum Equation*, Applied Mathematical Sciences, 8 (176) (2014), 8781-8789.
- [8] B. Bülbül and M. Sezer, *Numerical Solution of Duffing Equation by Using an Improved Taylor Matrix Method*, J. Appl. Math. 2013 (2013).
- [9] A. Elias-Zuniga, A general solution of the Duffing equation, Nonlinear Dynamics. 45 (2006), 227-235.
- [10] R. Novin and Z. S. Dastjerd, Solving Duffing equation using an improved semi-analytical method, Communications on Advanced Computational Science with Applications. 2015 (2) (2015), 54-58.
- [11] A. R. Vahidia, E. Babolian, G.H. Asadi Cordshoolic and F. Samiee, *Restarted Adomians Decomposition Method for Duffings Equation*, Int. Journal of Math. Analysis. 3 (15) (2009), 711-717.

- [12] G. Bissanga, Application Of The Adomian Decomposition Method To Solve The Duffing Equation And Comparison With The Perturbation Method, Contemporary Problems in Mathematical Physics. (2006), 372-377.
- [13] A. Issa, E. Kuffi and M. Düz, A Further Generalization of the General Polynomial Transform and its Basic Characteristics and Applications, Journal of University of Anbar for Pure Science. 17(2) (2023), 338-342.
- [14] M. Düz, *Solution of duffing equation with fourier decompositon method*, Bulletin of International Mathematical Virtual Institute. 12(1) (2022), 61-67.